Homework 7

CIS321 Fall, 1999

Thursday  November, 18.


1. Generate 2000 observations following the poisson distribution given below:

Calculate the sample mean and variance of the generated values, compare it with the population mean and variance and make comment.

2. A result: Suppose x1, x2 and x3 are three random variables which satisfy the following exponential distribution; i.e.,

                                       f(x) = (1/2.5) e-x/2.5,   x>0.

      Then Y = (x1+ x2+ x3)  satisfies the gamma distribution with the following density:



       Use this result to generate 2,000 gamma random variables satisfying the density function g(x). Find the sample mean and variance of these 2000 observations and compare with the population mean and variance.

3. Do the following

Step 1.  Generate 10 gamma random variables (as described in problem 2);

Step 2.  Calculate the sample mean, x, of the 10 observations generated in Step 1;

Step 3.  Apply Stemps 1 and 2 for 1000 times, and thus obtained x1, ((((((, x1000.

Step 4.  Draw the histogram using the 1000 observation in Step 3 and compare its shape with continuous random variables in Chapter 5, then make comment.
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P[X=x] =                          ,  x = 0,1,2,3, ((((((
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g(x) =                       x3-1 e-x/2.5,   x>0.
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